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A= 6000 X (67'%m

Path clifFerence
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d

51 come el ek e pth. kand 2

Xo = DXS600XD

d

;;‘z"‘d case % DPstan ce (p+n)fh band 2

Xpda) = (n+2) X4000X D
d -

S?mCP; X:\‘D+-9.)~“—=‘-‘E:"'I;t5 (e S)r’t,

(p+2)){7

P X 500 XD

d

2% o S('o+1) Bp.

AOx, P:5




al | Data 2

45t case s 2= 6560 X1o0~'%m-

Obseyved b}"’aht band = 7th.

Dnd Case 5 iwlave (énétH') (unknotwn /{’f}hH =N

Obsesrved #S.h:t bvéht band = S8+th.

AT B >\‘=9

o
Solution o

At - o RS

d

49 cojop Bwy e T AN

;lﬁd Case :) Xo = . §Z'12

Ox, N e Jlhe 3 xc560
;- 8

= 5740 A.U.




Name :

©) o m@
VINAYAK CLASSES

DEGREE & DIPLOMA ENGINEERING

XI-XII [Science / Commerce] Date :

Std. :

Roll No. : Subject : Marks :

20/

Data %

() Path cPfeyence  (for 1laves ot x and é/)z Ot
Phase c’fFevence. A =0

(8) Faih dfflNe Dy Liav.es at c’mcl(y -A,;
q
:o%ase, di'ffevence @ = 17

9.

To f:;onnj . I_R — 9

-

S’OIann 2

Feom  the relaibonn ¢

.\N—-
T = T 4B 4+ 25T cos

PPFevence £ =0

a \T.T cos .

- . . D
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